e, Comp) [/ e TL

Time: 2hour 30 minutes Max. Marks: 80

| R-19 [ 185 MCM)/,;”P“”

University of Mumbai

Examinations Summer 2022

Q1. compulsory and carry equal marks

1.
Option A:
Option B:
Option C:
Option D:

2.

their successor relatlonshlp?

Option A: | Hamiltonian graph
Option B: | Control graph
Option C. | Flow graph
Option D: | DAG

3. Rearrange the Compilati

a. Linking .=
b. Assem ng

- to optimize the given code?

o Coi>y Propgggtxan )

\__;Indudtlon Varxa 'ekeductxon

&X, &Y, &Z
1, &X
2, &Y
3, &Z
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MEND
LOOP1SPCC P1,P2,P3 L
What will be the value in MDTC and MNTC after processmg macro de

Option A: | MDTC = 5, MNTC =1
Option B: | MDTC =6, MNTC =2
Option C: | MDTC =2, MNTC =6
Option D: | MDTC = 1, MNTC =5
7 Consider the Assembly code and Identify the type of
START 300
Line-1 ADD AREG,A
Line-2 A DC‘4’
END
Option A: | Line -1 is Imperative Statement and Line
Option B: | Line -1 is Assembler Directive and Lif
Option C: Lme -1i is Imperative Statement gnd :
Option D: 3
8.
Option A: | S->EF
OptionB: | S>E*F |¢
Option C: | S=> E+F
Option D: | S->+EF
9. Consider the A

cation Counter for Line-2?

Option A:

Option B:

5 marks each

i 10 marks each

) ‘h:_: e different phases of compller with suitable example'?

are the different ways of representing Intermediate code? Explain with example
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Q3

Solve any Two Questions out of Three 10 marks each

“Consider the following Assembly Program:-

START 501
A DS 1
B DS1
CDs1
READ A
READ B
MOVER AREG, A
ADD AREG, B
MOVEM AREG, C
PRINT C
END

Test whether the given gra
S->AB/gDa
A->ab/c
B=>dC

C->gC/g
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